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RARBRIREETEFEIA = 700.00 700. 00
FRARVEZED D m2
BIAREM L=14.5k m AR30m 3 E = 8.00 8. 00
BIARE  R71-779 MEE [E]
BIAEM; L=14.5k m AR10m 38 E = 3.00 3.00
BIARIR K777y MEE [E]
FE &) g L 1A V) 459kg = 0.18 1. 00
PERE 500 —ykELS [0.459/2.5=0. 18 m3
BEMTER L=9.0k m 1424 Y 459kg = 0.18 1.00
kAL P EA 0.459/2.5=0. 18 m3
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Ry % = 30.00 30. 00
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g 1 m3
PEH| = 52.00 50. 00
A m3
HEL 62. 0-52. 0 = 10.00 10. 00
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RS 57.0+4. 97 = 61.97 60. 00
L=2.5k m m3
ARNEEFEIE = 2100.00 | 2100.00
s [ oD m2
EhLE T
W A T
IEL:- = 2100.00 | 2100. 00
RC-40 t=20cm m2
BNEL S AN YN AT =  7.00 7. 00
RC-40 t=20cm m2
FERAE T MR 2E AT = 7.00 7. 00
M-25 t=10cm m?2
BT AR A2 E T = 7.00 7.00
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OK Z & BT #450  20kg 1
KO K ZiziEwt = 3.00 3. 00
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BEELT BERA #BREN V7 m
BURT A 3R BB AR |(0.1240.5+0. 12)% (0.1240.510.12) %0.4 = (. 12 1. 00
- (0. 5%0. 5%0. 4) m3
Wt U B IR % T 0. 494%0. 4%4%1. 2 = 0.9 1.00
HEAK— b m2
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